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tof' (3) - @' (@)= Lo (T-@'iB)= T-(n-m)= n-50 = -30= K —
3 ERA 3 € € 2
-
= ton! [ 254 = 7l . =
tut stm& u:a@)] towi’ ;mm(? 7{)} = b’ [23nni )= tan (2 J_g) lgg_ /
Aoy gkew anm‘iﬂhr when ngraj;‘:(‘f A Oygtly=0 > 2-2=0 > 7_:2/

g B O ) B S R U R e

Y= Mx H’W&ﬁhg Wt 2 g\_g:m £ '1{,:%%5 /
X x -

342 o
.= 5 5= 2 Sl- -{g-30)=22 s QA= 5%22 = WO -
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m-n % 1-2 - S P

(
Usng f@=18" and AP=bA, we qet ZLIEIE 15 > KIS Bal=ig

www.StudentBounty.com
Homework Help & Pastpapers


http://www.studentbounty.com/
http://www.studentbounty.com

R MR(M= RM= gx436  R6)= 30436= €6 /

S @t @R e
REO= 3x% 36745

* Money k@w%m‘( QLM\,{)MW Iy amceﬁ%tﬁgmp

c_./

3. Wing ditance lemuda : d= 10x+byczd] = 10)(Q2) + ©)E3)+ () (&‘Hi&;;ﬁ% 3 m&g_

o det s xha

SECTION-B

- ,fl ,Ri_: ,,[4;1 Oo)

det f('ll) sz) Yoz, eRe
= 1\*4 Aptd D (%1'7(2)("(1”@2)'
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\ 4’““*—‘4 £ is ene-gne (njedive) % ,
L ys= f+4. > %= 74 { x=-Vy-4 nejecied” o1 x>0}

. e ,auv&mg%«émbaaw—d&mam Am%mmm fcuw
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| +tan=g 4 1442 > 3t %43=0 |
Lo o< | > t= 8:{64-40)= 4:(7
, 3 3
BOE 203 ihich amples ot 0<26<Tr 3 0< 0
7 - =
Accordingly |, 0<tand < tan(vy - Weu = g<t<l

Tis  t= 4437 040 be swjeckedd gind =t 1 g a\e 4
_&3__@, sujeckedt | gining Jcm(%gm4> 4-3
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3. &L A=) o Kty K24
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- Y - x4y % 7
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x+2% N X+g

b= 3(x+y)

~ Applying G- G MVW

WY XDy % A= 3(x+y) 0 C !
Yy Y Xy
14 2(4 x

TokiNG QUL (Bnan 4 \x@m& owck Y E’@m@z,
¢xpondig about R,

e g o0 o
_A yﬁ -l xey a= 3473y {l("‘ﬂ'(*‘)m)l': PRYLRP

: - ' - p= g%z(w«ﬂ_ -

..14--,-. Guan Y= e o | | ®/ .
Taking viokixol fRgasithm bobu sdes | X OQY= Y-x  — o

Uﬁng with sosped to 2, dx Logy+ %_ 1; %,(/
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|
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-
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o 6= tanf T .
Qultwmm§ Wit K,  6°A0gE = (P do —@
N N - - = ‘a-.‘i . _

S
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(TR T e
= Lm 2k = 2k = K=K |
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2. det fwe Guan lnes be Ly and L,

\ 2 2 3

Any poink 0(K) e N Ane L canbe expraned 08
P (K+3, 2k +2, 2k«4) —0 k=R

8

9 L and 4 ove ipaeding (and are of uvue Men-pasallel) , tn M ) '
Ahauld be exadly ene pait o} iwoedion  and h that case anly 6ne ,
ol volue B K Meuld peurik the exdence 8 that paok ent, , A0

wstdting xyz 8fL by P9, wege -

) Ki3-5 = k4242 | 2ke-4-0 7 k-2
3 2 g 3

www.StudentBounty.com
Homework Help & Pastpapers


http://www.studentbounty.com/
http://www.studentbounty.com

m. deb ELE, eed be awanty Wudm
B> A o ko scheol tn fime
Ez"‘ B amoa D’LWQ

Gluan. P('_EO=%, PE=E . Ao swnce Ejond E, axe ndependent euertl,
we qek ple)-p(E)= plENE,)

2 plEink=32.6= 15
¥ F 49

pleny A coming I tme) = p(E) - plEnE)

= gk = 2-15= 6 = plo
74 49

Auukoxly - p(enly B Wgﬁmﬁme) = PE) —plEinE) = 5 15 = 20 =pp)
7 49 :

B p(only edwe A oo B ming tn fime) = PO+ p(p)= & +20 = W
- 45 49 49

V. Bndd seme o dixipne Improuns Y hefshe  comn ko scheel in tume .
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23 &t oy pelik B0 M elipae xzqi-i be
posamebucally repaented o (00646, Bstrb) =i
P@)= ( o€ baint) "

'rhm asea e mctongk/n{ded n Hu Lguse

A= kb | | Gz g
= (2a00) (?bhﬁ’{@)/ 7 _ | |

A=1®)= 20b pnRO _

Uy #(8) B MKMW ke AN08 i Max- re. 26=14 0& B=1vg. 7 -

Using oladis: A= fB)= 2ab J,m29 ~——@/

F(8)= 20b (0120 = - /
f@=0 at 20-1 e e:T_t/4___ A

= -8omn2  f(va- —gav<0 S -
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j)h,uu_s flo) 3 maxomum ax 0=TV4 - )
omng 8=14 in eqn @, £ A= 200 s ,f,qd.w’m

o y=x? U=x2 . _
‘24E: ‘d": \ ’[y ; yex The shaded wuoa 8 Huw mqum(i el
\ , 7
\‘\ ance bab Ixl and ¢ W(&L abeuk
o @ ty godis, thoteral wua i Fuice o ay one shaded posk
Y /4 Hence
(0,0 %
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fiwan  (ori'y-x)dy= G4y dx

det  ystan® - dy= _;gecle/gle = (edx)/z/eezﬁ d6= (1+twre) qx

3 // = %/@6{@ dx

2> dx +x=06
= o

, ‘ﬂw,u ahruz&n d%uwnhai/ equodian %m prum %wptgdb

: . j| de e/

MuWltiplying by IF en bat aides | dxefs fdba = 6etd

2 fd(%@")z f@e?d@
> %= %6 - [1.ebdo
- € ({« r€’+C
= X= B-t4cc”
Putbng bak €= o'y ‘
- "= tcmg |+ e l"/ S
At 2=0,4Y=0, &0 0=0-1+ ce = c=1 _ , ——l
b = %=ty -+
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6. d&t K Wim(i e e L o

t
% L pomes Huowugh (1,2,9) l= X'= Yy=2=27-3 @ Qa,b¢ beng Bu PR3
; ! “ ’ ¢ et%%e L
L & portalel 4 plones f and f, | and hence  pependiadast B B neimols
whase DR2 - cow maspede waly b O b and Q,,b,.¢ 0=1, by=-l, ;=2
ol 0y=3, b=, (p= |
I Taus,  GQi+bb; + (=0 /14
ol = a-b+2=0
and. 3a+brc=0
Using CuBs mulliplicchion tn sl a,be e _:% = <
_ Aubsllding dhese ok n fne equatien o e L,

A(-31e5)+4K) L Am

£ 1 :
e S S S g
oA A 5 SR ¥
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24 et N and § be fue ewunds culﬁmad 0%
| $— P captain Qels The nuwmber 67 antw die
$=N- e coptan cew ek get s bt ‘6" an H die

i
o
::l = 3)" ]~ (S)"" s ;

: @bu&wwj p(s,_é and  p(n) = pl P 2 /
i‘ ) ]

Ccusel A uani , N |
;4_ A Contuan B qel o 6 b B T ’U&LLQuiLn(} slocaser o passible =
5, NNS NNNNS NNNNMNG, e
Twﬁs‘wgqemmat edhol § owwd, o1 Dot A &8 foie and P nextdrg I
o Awiy,and 50 on. F ‘
Tetal vaoq.bu,ct% fou A LW% , , i
pA=  p) + pt)p(N) s+ | o p(s) $o oz ®
= 8.4 1 @)ﬂ L(B\ﬂ e = X[”(g)* ‘5)*—'—- ] ,L__L
4 AR ¢ -z
t? / 36-
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A

ﬁwu,fmq

o As AL can be zean | the detnon @) selode Wa ngt @reedt becodue pft&bade'?f
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R det

X= T 6 unity o, A
L Y=Tuumbe 8 wuls of B

koo requived. gy making 4 Wit O A=2
v ¥ o % Wty o A =2x
wEekew mqwud kew moking 4 wuls o) B= 3y

a0 tol wve Ol wedROs sqquased = 2x+3Y /
Thiy nundogt aveudd be o o o cquol o o 6} owailble wordkers re 30
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ﬁundm'd.% NGO et ﬁq{wﬂd Ty 9-\ Ca{v\kCLL = 3’K+l$[

T sedd be dey fran o cquol 4o avaldable chprml e ' f
35 i
N 3“% . I - i NAO ﬂzwnua - 120y
U t Y < / P8k 7= 100K+ 2004
Y3 '1%
AwO, x20 andyz0  {7neeh dgpd cannek be negakiused

P,L@m% B graphs 8 x+y=1, x +y=1, x>0 and y=0, and
6 10 '3 13 '

(811

salulying  an fedoikasosy peink (soy (0,6) i Fhue equodions, uw qe the
Aaded sagien . swte on exbenaum Mo en f,hwq) poudd only, we plek

0 fOble Wt 7 fou 4 powki oy st i
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x 0 |3 i 3 © x=Byy=i0 |
y 10 Q g x=73,8 gz8 » ‘
700 56T 1240 E
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Thas, Py roueaue wdlk be moxunized i 12 wuls o B and weUNk ol A e
L m actbwed  The oevws pan ding remoul & F 2088 1260 =

~

Ve, The monladiown % 0 meble prrogn frurdelng thok - #er Gnd. women 0%
equathy apable 8| deing auk and o .@Wd equally .

let T mumbec o auoden (o henety, Welping Swa ond supeuion e
%y and z rwpecdtwely, W houe

Y4z =12 e mwz:lz ek A= L1 CB=(12 | BX=|a
3(y+z)+2x=33 w3y +37=33 2 3 3 33 19 ]
X+I= 2{4 S{——Qlj\y/ 1 -2 | 0 Z

o hen AX=8 yaldy the O«k@ﬂmmd Cq}-ldﬁ.&ns
X conbe feund o3 X=A'B

= (340 - (2-9)+ (43) )
- 9r-7= 3£0 - A0 - Alodk e
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